Quiz for Unit 5

Part I Reading Comprehension

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A, B, C and D. You should decide on the best choice.

Questions 1 to 5 are based on the following passage:

   The common cold is the world’s most widespread illness, which is probably why there are more myths about it than any of the other plagues that flesh is heir to.

   The most widespread fallacy (谬误) of all is that colds are caused by cold. They are not. They are caused by viruses’passage on from person to person. You catch a cold by coming into contact, directly or indirectly, with someone who already has one. If cold causes colds, it would be reasonable to expect the Eskimos to suffer from them permanently. But they do not. And in isolated arctic regions explorers have reported being free from colds until coming into contact again with infected people from the outside world by way of packages and mail dropped from airplanes.
   During the First World War soldiers who spent long periods in the trenches, cold and wet, showed no increased tendency to catch colds.

   In the Second World War prisoners at the notorious Auschwitz concentration camp, naked and starving, were astonished to find that they seldom had colds.

   At the Common Cold Research Unit in England, volunteers took part in Experiments in which they submitted to the discomforts of being cold and wet for long stretches of time. After taking not baths, they put on bathing suits, allowed themselves to be doused (弄湿) with cold water, and then stood about dripping wet in drafty room. Some wore wet socks all day while others excised in the rain until close to exhaustion. Not one of the volunteers came down with a cold unless a cold virus was actually dropped in his nose.

   If, then, cold and wet have nothing to do with catching colds, why are they more prevalent in the winter? Despite the most pains-taking research no one has yet found the answer. One explanation offered by scientists is that people tend to stay together indoors more in cold weather than at other times, and this makes it easier for cold viruses to be passed on.

  No one yet found a cure for the cold. There are drugs and pain suppressors (止痛片) such as aspirin, but all they do is relieve the symptoms.

1. According to the passage, there are more myths about the common cold than other human disease because .

A. it spreads more quickly

B. few people can catch colds

C. the climate of the world is getting colder and colder

D. it is the most widespread illness

2. We learn from the passage that .

A. people suffer from colds just because they like to stay indoors

B. a person may catch a cold by touching someone who already has one

C. colds are caused by cold

D. the Eskimos do not suffer from colds at all

3. Arctic explorers may catch colds when .

A. they are working in the isolated arctic regions

B. they are free from work in the isolated arctic regions

C. they are coming into contact with the outside world

D. they are writing reports in terribly cold weather

4. During the First World War, soldiers who spent long periods in cold and wet trenches .

A. never caught colds

B. often caught colds

C. did not increase in number

D. did not show increased tendency to catch colds

5. What does the passage mainly discuss?

A. The myths about the common cold.

B. An explanation of the reason and the way people catch colds.

C. The experiments on the common cold.

D. The continued spread of common cold.

Questions 6 to 10 are based on the following passage:

   Telecommuting— substituting the computer for the trip to the job has been hailed as a solution to all kinds of problems related to the office work.

  For workers, it promises freedom from the office, less time wasted in traffic, and helps with child-care conflicts. For management, telecommuting helps keep high performers on board, minimizes tardiness and absenteeism by eliminating commuter, allows periods of solitude for high-concentration tasks, and provides scheduling flexibility. In some areas, such as Southern California and Seattle, Washington, local governments are encouraging companies to start telecommuting programs in order to reduce rush-hour congestion and improve air quality.

  But these benefits don’t come easily. Making a telecommuting program work requires careful planning and understanding of the differences between telecommuting realities and popular images.

   Many works are seduced by rosy illusions of life as a telecommuter. A computer programmer from New York City moves to the tranquil Adirondack Mountains and stays in contact with her office via computer. A manager comes into his office three days a week and works at home the other two. An accountant stays at home to care for her sick child; she hooks up her telephone and does office work between calls to the doctor.

   These are powerful images, but they are a limited reflection of reality. Telecommuting workers soon learn that it is almost impossible to concentration on work and care for a young child as the same time. Before a certain age, young children cannot recognize, much less respect, the necessary if the parent is to get any work done.

   Management, too, must separate the myth from the reality. Although the media have paid a great deal of attention to telecommuting, in most cases it is the employee’s situation, not the availability of technology, that precedes a telecommuting arrangement.

6. What is the subject of the passage?

A. Driving to work.

B. Business management policies.

C. Computers of child-care purposes.

D. Extending the workplace by means of computers.

7. It can be learned from passage that telecommuting workers can .

A. take care of the children

B. incur expenses for lunches and clothing

C. be restricted to the office

D. spend more time in traffic

8. Which of the following problem fails to be solved by telecommuting?

A. Employees’lateness for work.

B. Employees’absence from work.

C. Employees’conflicts with second jobs.

D. Employees’need for time alone to work intensively.

9. Which of the following does the author mention as a possible disadvantage of telecommuting?

A. The worker often does not have all the needed resources at home.

B. Small children cannot understand the boundaries of work and play.

C. Electrical malfunctions can destroy a project.

D. Computer technology is not advanced enough to accommodate the needs of every situation.

10. Which of the following is an example of telecommuting as described in the passage?

A. A computer technician repairing an office computer network.

B. A teacher directing computer-assisted learning in a private school.

C. A scientist in a laboratory developing plans for a space station.

D. A technical writer sending via computer documents created at home.

Questions 11 to 15 are based on the following passage:

   Much attention is presently being given to what is termed“ functional illiteracy”. This should not be confused with the problem of illiteracy, that is, the inability to read and write. Current United Nations Education Scientific and CulturalOrganization (UNESCO) figures indicate that 99 percent of all Americans are literate, the same figure assigned to nations such as Britain, Germany. Functional illiteracy, by contrast, is concerned with how much difficulty people have in actually using and writing skills in everyday situations. This might be interpreted, for example, as the relative ability to understand federal income tax forms, or printed instructions, or how well someone can write a letter of complaint, or apply in writing for a job.

  There are no agreed-upon definitions of what functional illiteracy is and, in practice, definitions vary widely. For many years, reading tests have been used throughout the country which defines reading ability by grade level. “Tenth-grade reading level” for instance, would be the average reading score of all pupils who have completed ten years of school. There are, of course, many different reading tests and types of tests. One definition of functional illiteracy holds that anyone is“illiterate” who reads at less than an eighth-grade level. Another common definition uses a twelfth-grade level (the last year of high school on the U.S.).

There seems to be general agreement that at least one-tenth of all Americans are functionally illiterate in English to some degree. It is also hardly surprising that those nations which (like the U.S.) have paid most attention to this concept, and which have nation wide testing, have found the greatest problems. As one educator humorously put it, “Reading tests cause illiteracy”. Canada, for example, which also has a large non-English speaking immigrant population, has recently found that many of her citizens, too, are functionally illiterate. The attention given to this problem, therefore, reflects the fact that in North America schools as well as pupils are continually tasted.

11. According to the passage, “functional illiteracy” is .

A. the ability to read and write

B. the inability to read and write

C. the inability to read and write in everyday situations

D. the relative ability to read and write in everyday situations

12. Which of the following is most probably functionally illiterate?

A. One who reaches tenth grade reading level.

B. One who reaches eighth grade reading level.

C. One who reaches twelfth grade reading level.

D. Not known yet.

13. It can be learned from the passage that .

A. non-English speaking immigrant population constitute the majority of all the functionally illiterate

B. it is impractical to determine what functional illiteracy really is as different situations set different requirements

C. Canada and the U.S. have functionally illiterate population because they hardly paid any attention to the problem

D. functional illiteracy may have been caused at least in part by unsuccessful design of reading tests

14. It can be inferred from the passage that .

A. in North America nation-wide tests are given to test pupils’ functional literacy

B. teaching of English reading and writing has turned out to be a failure in Canada and the U.S.

C. over one-tenth of Americans population have difficulty in using and writing skills in everyday situations

D. Canadians are generally at a higher level of functional literacy than Americans are

15. The passage was written mainly to .

A. introduce the problem of functional illiteracy

B. compare ways to get rid of illiteracy

C. discuss the reasons for functional illiteracy

D. analyze different definitions of functional illiteracy Questions 
16 to 20 are based on the following passage:

If the salinity (含盐量) of ocean waters is analyzed, it is found to vary only slightly from place to place. Nevertheless, some of these changes are important. There are three basic processes that cause a change in oceanic salinity. One of these is the subtraction of water from the ocean by means of evaporation — conversion of liquid water to water vapor. In this manner, the salinity is increased, since the salts stay behind. If this were carried to the extreme, of course, white crystals of salt would be left behind; this, by the way, is how much of the table salt we use is actually obtained.

The opposite of evaporation is precipitation (降水)， such as rain, by which water is added to the ocean. Here the ocean is being diluted (冲淡) so that the salinity is decreased. This may occur in areas of high rainfall or in coastal regions where rivers flow into the ocean. Thus salinity may be increased by the subtraction of the water by evaporation, or decreased by the addition of fresh water by precipitation or runoff.

Normally, in tropical regions where the sun is very strong, the ocean salinity is somewhat higher than it is in other parts of the world where there is not as much evaporation. Similarly, in coastal regions where rivers dilute the sea, salinity is somewhat lower than in other oceanic areas.

A third process by which salinity may be altered is associated with the formation and melting of sea ice. When seawater is frozen, the dissolved materials are left behind. In this manner, seawater directly beneath freshly formed sea ice has a higher salinity than it did before the ice appeared. Of course, when this ice melts, it will tend to decrease the salinity of the surrounding water.

In the Weddell Sea, of America, the densest water in the oceans is formed as a result of this freezing process, which increases the salinity of cold water. This heavy water sinks and is found in the deeper portions of the oceans of the world.

16. “table salt”(Line 6, Para.1) is mentioned in the passage in order to .

A. reveal the source of all the salt used in people’s life

B. present the relation between seawater evaporation and people’s life

C. call on the attention to value natural resources

D. begin the introduction of the makeup of crystal salt

17. The salinity of the oceanic water is generally higher in .

A. polar areas

B. rainy regions

C. coastal regions

D. tropical areas

18. It can be inferred from the passage that the salinity of water surrounding the sea ice .

A. falls as the sea ice is being formed

B. falls as the sea ice is being dissolved

C. rises as the sea ice is being dissolved

D. rises as some water begins to sink into deeper ocean

19. From the passage we can learn that .

A. as a result of the formation of ocean ice water salinity decreases

B. the salinity of the water near the surface of the oceans is relatively high

C. in coastal areas salinity is higher than in other oceanic areas

D. various factors combine to cause variations in the salinity of water

20. The deeper part of the ocean water is denser because .

A. water of the upper part has a great pressure on it

B. the water melted from sea ice usually sink to deep ocean

C. dense water tend to fall to deep ocean

D. evaporation has the greatest effect on the deep ocean water and thus increases its salinityPart Two Vocabulary and Structure

Direction: There are 30 incomplete sentences in this part. For each sentence there are four choices marked [A], [B], [C], [D]. Choose the ONE answer that best completes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

21. The China Daily reported that the United States insisted on inspecting North Korea’s nuclear _____.

A. institutions B. instruments C. installations D. illustrations

22. The government did not yield _____ the public opinion and issued the declaration eventually.

A. up B. to C. in D. at

23. The people of that nationality are so ____ that most visitors to them will be treated with excellent meals and sent presents with ethnic flavor.

A. hospitable B. hostile C. hostel D. hospital

24. His sudden _____ greatly surprised all of us as he was always a very kind man.

A. unhappiness B. heartiness C. uprightness D. harshness

25. My parents, touring in Britain, ____ are looking forward to a traditional English afternoon tea in a beautiful setting.

A. publicly B. instantly C. nowadays D. presently

26. The chairman of the seminar suggests we abandon the topic ____ discussion and begin probing into the next and more important issue.

A. on B. in C. under D. at

27. Our car ____ on the highway, so we had to delay for two hours repairing it.

A. broke off B. broke down C. broke up D. broke out

28. The candidate finally won the election and became the new president because many of his promises were quite popular _____ the voters.

A. for B. in C. to D. with

29. Every one says he is a ____ yet kindhearted man.

A. crude B. merciless C. harsh D. coarse

30. It is well known that walking is one of the best ways for a person to ____ healthy.

A. preserve B. stay C. maintain D. reserve

31. The _____ of blood always makes her feel sick.

A. sight B. view C. look D. form

32. He may be a very clever research worker, but he’s very poor at putting his ideas ____ to his audience.

A. across B. about C. away D. forward

33. The cells were designed to ____ sunshine to electricity to run a motor.

A. exchange B. alter C. modify D. convert

34. There was a ____ growth of the heavy industries during the war.

A. considerate B. considerable C. considering D. considered

35. I am not sure whether he is the suspect; I could just ___ a figure in the darkness at that time.

A. make up B. make over C. make out D. make for

36. With an eighty-hour week and little enjoyment, life must have been very ____ for the nineteenth century factory workers.

A. hostile B. tedious C. anxious D. obscure

37. When traveling, you are advised to take travelers’ checks, which provide a secure _____ to carrying your money in cash.

A. substitute B. replacement C. preference D. alternative

38. He ____ his resignation to the Prime Minister at the last conference.

A. rendered B. tendered C. overtook D. provided39. One of the responsibilities of the Coast Guard is to make sure that all ships _____ follow traffic rules in busy harbors.

A. cautiously B. dutifully C. faithfully D. skillfully

40. The first, second and third prizes went to Jack, Tom and Henry ______.

A. differently B. individually C. privately D. respectively

41. The girl who sent the missing document back received a generous ____ of five hundred pounds.

A. prize B. allowance C. reward D. pension

42. There are certain _____ when you must interrupt people who are in the middle of doing something.

A. situations B. conditions C. opportunities D. environments

43. The Himalayas are the highest mountain _____ in the world.

A. range B. ridge C. peak D. summit

44. My brother likes eating very much but he isn’t very ____ about the food he eats.

A. special B. peculiar C. particular D. unusual

45. Dozens of scientific groups all over the world have been ____ the goal of a practical and economic way to use sunlight to split water molecules.

A. pursuing B. chasing C. attaining D. reaching

46. He continued speaking conceitedly and completely forgot the existence of others, _____ my feelings on the matter.

A. in case of B. because of C. regardless of D. prior to

47. Without telephone it would be impossible to carry on the functions of _____ every business operation in the whole country.

A. preferable B. precisely C. practically D. presumably

48. It is of great importance to ______ a good knowledge of English in the modern society.

A. acquire B. inquire C. require D. request

49. It is generally believed that swimming is one of the best ways for a person to ____ good health.

A. maintain B. preserve C. reserve D. sustain

50. Circus tigers, although they have been tamed, can _____ attack their trainer.

A. unexpectedly B. deliberately C. reluctantly D. subsequently

Part Three Cloze

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked A, B, C and D. You should choose the ONE that best fits into the passage. Then mark the corresponding letter on the Answer Sheet with a single line through the center.

Eye contact is a nonverbal technique that helps the speaker“ sell” his or her ideas to an audience. 51 its persuasive powers, eye contact helps hold listener’ interest. A successful speaker should maintain direct eye contact for at 52 75 percent of the time. Some speakers focus 53 on their notes. Others gaze over the heads of their listeners. 54 are likely to lose audience interest and 55 . People who maintain eye contact while speaking, 56 from a podium or from across the table, are regarded“ not only as 57 well-disposed by their target but also 58 more believable and earnest.”
To 59 the potency of eye contact in daily life, we have only to consider how 60 behave when their glances happen to meet on the street. At one extreme are those people who feel obliged 61 smile when they make eye contact. At the other extreme are those who feel awkward and immediately 62 away. To make eye contact, it seems, 63 to make a certain link someone. 

Eye contact with an audience 64 lets a speaker know and monitor the listeners. It is, in fact, 65 for analyzing an audience during a speech. 66 cues from audience members can indicate that a speech is dragging, that the speaker is 67 on a particular point for too long, 68 that a particular point requires further explanation. 69 we have pointed out, visual feedback from listeners should play an important role in 70 a speech as it is delivered.

51. A. But B. Despite C. Except D. Besides

52. A. large B. best C. least D. most

53. A. exclusively B. occasionally C. generally D. usually

54. A. All B. Nor C. Neither D. Both

55. A. evaluation B. reputation C. worship D. esteem

56. A. whenever B. whether C. whatever D. if

57. A. exceptionally B. respectively C. consistently D. surprisingly

58. A. as B. to C. by D. on

59. A. judge B. justify C. show D. claim

60. A. passer-by B. passer-bys C. passers-by D. past-by

61. A. in B. to C. by D. on

62. A. go B. look C. turn D. put

63. A. as B. like C. is D. that

64. A. also B. however C. thus D. instead

65. A. likely B. essential C. possible D. demanding

66. A. video B. visible C. verbal D. visual

67. A. dwelling B. hanging C. lingering D. spending

68. A. or B. yet C. and D. but

69. A. Which B. As C. This D. That

70. A. modeling B. developing C. shaping D. modifying

Part Four Writing

Direction: For this part, you are allowed thirty minutes to write a composition on the topic Long-distance Education. You should write at least 120 words, and base your composition on the outline given below in Chinese.

1. 在中国，远程教育发展迅速
2. 远程教育加强了发达地区与贫困地区，国内院校与国外院校之间的联系
3. 然而，中国的远程教育还很不发达
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Part IV Writing

Long-distance Education

With the popularization of computer and information technology, long-distance education, though a new comer, has developed at a rather surprising speed in China and proved to be an effective way of learning.

Thanks to distance learning, many people in the poor areas could enjoy equal opportunities as their counterparts in the richer areas. What is more, students in China are able to have access to those of the students abroad.

In spite of its enormous achievements, compared to that in rich countries long-distance learning in China is still far from perfect and thus should be improved in the following two aspects. First, the needed facilities like computers, information network for distance learning are still lacking in some areas and should be installed. Second, more knowledge and courses should be available through distance education so as to meet variety of learners’ needs.
